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const int MAXN = 100005 ;
const int N = 26 ;

struct Palindromic Tree

//cntO0count0000000O0DO0OOOODOOOODOO0O

int next[MAXN][N] ;//next00next0 0000000000 O0ODOOODOOOOOOOO
goood

int fail[MAXN] ;//fail0 00000000 fail0DOOOOO0O

int cnt[MAXN] ; /0000i00000000000D0O0O0OOCODOOODOOOOOO0O
Ocount()0OOD0OOOODOODOOO

int num[MAXN] ; /00000i00000000O0000O0DOODOOOOODOODOOO

int len[MAXN] ;//len[ijO0000i0000000OOO0OOODOOOOOOOOO0O

int S[MAXN] ;/0000000O

int last ;/0 0000000000000 OOCOOOOOOOOCO

int n ;/0000000000O

int p ;/00000000O00O0O

int newnode ( int 1 /0000
for (int 1 =0 ; 1 <N ; ++ 1 ) next[pl[i] =0 ;
cntlpl =0
num[p| = 0 ;
len(p] =1
return p ++ ;

void init /000
p=20;
newnode 0 ;
newnode -1 ;
last = 0 ;
n =0 ;
Sin -1 ;/0000000000000000000

fail[o] = 1 ;

int get_fail int x JOKMPOOOOOOOOOOOOOO
while Sin - len[x] - 1] !'=S|n x = faillx] ;
return x ;

void add int c

c -='a';
S[++ n] = c ;
int cur = get fail last /000000000000 00D00000O
if 'next|cur!|c /0000000000000 0000000000000
ogooo
int now = newnode len[cur! + 2 /0000
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googd
faillnow| = next[get fail faillcur c] ;/0ACODDOODOOO
OfailDOODOODOOOOO
next/ cur![c! = now ;
num/ now! = num|[faillnow| | + ;

last = next|[curl]|c
cnt/last] ++

’

’

void count
inti=p - ;1 o>= ;o-- 1 cnt|[failli += cnt|1i
/0000000 cntDO0O0O faillv]=u[jDOuOOOvOOOOODO

’

0O

P5496 0 0 OO OO OO (PAM)

0000000000 $s$0000000D0O00unoDn $s$00000000DOO00O0OODOO
goooad

0000000000 $last$ 0 $num[]$ 0000000
000000 oo 4

0o

#include<bits/stdc++.h>
using namespace std;
const int N=5e5+5;
struct Palindromic Tree
int nxt[N ,fail/N!,cnt[N|,num/N],len/N/,SIN]|,last,n,p;
int newnode(int 1
memset (nxt(p!,0,sizeof(nxt(p ;
cntipl=num/pl/=0;
lenipl=1;
p++;

void init
p=U;
newnode ;
newnode(-1);
last=0;
n=u;
Sinl=-1;
fail =1;

int get fail(int x
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Sin-len[x!-11!=S[n x=fail[x];
X;

void add(int c

c-='a';

S[++n|=cC;

int cur=get fail(last);
I'nxt|curl|c
int now=newnode(len|curl|+2);
fail[now|=nxt[get fail(faill cur cl;

nxt cur!|cl=now;
num|/now ! =num|fail now]| |+1;

last=nxt|[curlc];
cnt|last]|++;

void count
int i=p-1;i>=0;i--) cnt|[failli] +=cnt[i];
P;
char s[N];
int main

scanf("%s",s);

int len=strlen(s);

P.init();

P.add(s ;

int k=P.num|[P.last];

printf("%sd",k);
int i=1;i<len;i++
P.add((s[1]-97+k)%26+ c
k=P.num[P.last];
printf(" %d",k);

P3649 [APIO2014]0 0 O

0000000000000 000D0000 $s$00000 $s$000000000000000 $s%
0000000000000 000DO0O000DoO0OOO0 sssooooooooooooooo

00000000 d $len[]$ 0 $ent[]$ 000
gobooooaozj

0oq

#include<bits/stdc++.h>
using namespace std;
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const int N=3eb5+5;
struct Palindromic Tree
int nxt[N ,fail/N!,cnt[N|,num/N],len/N/,SIN]|,last,n,p;
int newnode(int 1
memset (nxt(p|,0,sizeof(nxt(p
cntip!=num(p|=0;
lenipl=1;
p++;

’

void init
p=u;
newnode ;
newnode(-1);
last=0;
n=0;
Sinl=-1;
fail =17
int get fail(int x
Sin-len[x]-11!'=S[n x=faillx
X;

.
’

void add(int c
c-='a';
S[++nl=cC;
int cur=get fail(last);
Inxtlcurl|c
int now=newnode(len|curl+2);
fail[now|=nxt[get fail(faill cur C
nxt/ cur!|cl!=now;
num/now!=num|fail[now] |+1;
last=nxticur!|c
cnt|last]++;

’

void count

int i=p-1;i>=0;i--) cnt|[failli] +=cnt[i];
P;
char s[NJ;
int main

P.init();
scanf("%s",s);
int len=strlen(s);
int i=0;i<len;i++) P.add(s[i
P.count();
long long maxx=0;
int i=0;i<P.p;i++
maxx=max (maxx,111*P.len[i/*P.cnt|1i

’

1

printf("slld",maxx);
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Ple59 [0 0DOOOODO

0000000000000 000D00O000DO000DOooO0U0ooDoO0OOooDoOogO $k$Ood
gooooooon

00000000 $cnt[]$0 $len[]$ 000000

0o

#include<bits/stdc++.h>

using namespace std;

const int N=1le6+5,mod=

typedef long long 11;

Ll fastpow(int x,int y

1l ret=1;
;Y y>>=1, x=111*x*x%mod

y& ret=111*ret*x%smod;
ret;

struct Palindromic Tree
int nxt[N ,fail[N|/,cnt[N]|,len[N!,S[N!,last,n,p;
int newnode(int 1
memset (nxt|[p|,0,sizeof (nxt|p
cntipl=0;
lenipl=1;
p++;

’

void init
p=u;
newnode ;
newnode(-1);
last=0;

int get fail(int Xx
Sin-len[x]-11!'=S[n x=faillx
X;

’

void add(int c
c-='a';
S[++n]=c;
int cur=get fail(last);
Inxt|icur!|c
int now=newnode(len|/cur!+

’
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faillnow|=nxt/get fail(faillcur cl;
nxt/ cur!|cl=now;

last=nxt|curl|c]l;
cnt|last|++;

void count
int i=p-1;i>=0;i--) cnt[failli]|+=cnt[i];

P;

char s[N];
bool cmp(const pair<int,int>&a,const pair<int,int>&b
a.first>b.first;

int main
P.init();
1l n,k;
scanf("%slld %l1d",&n,&K) ;
scanf("%s",s);
int len=strlen(s);
int i=0;i<len;i++) P.add(s[i]);
P.count();
11 K=0;
vector<pair<int,int>>v;
int i=0;i<P.p;i++
P.len[1i]>0&&(P.len[i]&
K+=P.cnt[i],v.push back(make pair(P.len[i],P.cnt[i ;
K<k
printf("-1"); ;

sort(v.begin(),v.end(),cmp);
11 ans=1;
int i=0;i<v.size();i++
k<= ;
k>=v|[i].second
ans=(ans*1l1*fastpow(v/i|.first,v[i].second))%mod;
k-=v[i].second;

ans=(ans*1ll*fastpow(v/i|.first,k) ) %mod;

.
’

printf("slld",ans);

’

P4287 [SHOI2011]0 0O O
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0000000 $w$sOOO0O $WwhR$JOO $x$ 0000 $swwRww™R$ 00O O0ODOOCOOO" OO
oo dgoboodbobooobobuooobooooon

000000 $trans$ 0O0O00O0ODOO

0o

#include<bits/stdc++.h>
using namespace std;
const int N=5e5+5;
struct Palindromic Tree
int nxt[N ,fail/N!,cnt[N|,num/N],len/N/,SIN]|,last,n,p;
int trans|[N/;
int newnode(int 1
memset (nxt[pl,0,sizeof(nxt|[p
cntipl/=num/p|=0;
lenipl=1;
p++;

’

void init
p=U;
newnode ;
newnode(-1);
last=0;

int get fail(int x
Sin-len[x]-1]!'=S[n x=fail[x];
X

void add(int c

c-='a';

S[++n]=c;

int cur=get fail(last);
Inxtlcurl|c
int now=newnode(len|cur!+2);
fail[now|=nxt[get fail(faill cur C
nxt/ cur!|c/=now;
num/now ! =num| fail now| |+1;

’

len|now| <= trans | now|/=faillnow];

’

int tmp=trans|cur];
Sin-len{tmp/-1/!=S[nl|]|((len[tmp|+2)<<1)>len|now

tmp=fail tmp|;
trans|[now|=nxt/ tmp]||c

’
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last=nxt|[curl(c];
cnt[last]|++;

void count
int i=p-1;i>=0;i--) cnt(failli]|+=cnt[i];
P;

char s[NJ;
int len[N];
int main

int n;

scanf("%d",&n) ;

scanf("%s",s);

P.init();

int ans=0;
int i=0;i<n;i++
P.add(s[i]);

int i=1;i<P.p;i++
P.len[P.trans[i] |<<1)==P.len[1i]&&P.len[P.trans[i] |%2==
ans=max(ans,P.len[i]);

printf("%sd",ans);

202000 000000Odayl A
oo oooon

gobooobbodobooobbooobbuoobobbooobbooobboon

0oq

#include<bits/stdc++.h>
using namespace std;
const int N=4e5+5;
struct Palindromic Tree
int nxt[N ,fail/N!,len[N]|,SIN!,last,n,p;
int newnode(int 1
memset (nxt/p!,0,sizeof(nxt|p
lenipl=1;
p++;

’

void init
p=0;
newnode ;
newnode(-1);
last=0;
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n=0;

Sinl=-1;

fail =1;

int get fail(int x
Sin-len[x]-11!=S[n x=fail|x
X,

.
’

void add(int c

c-='a';

S[++nl=cC;

int cur=get fail(last);
Inxtlcurl|c
int now=newnode(len|curl+2);
faillnow|=nxt[get fail(faill cur C
nxt/ cur!|cl/=now;

last=nxt[cur][c];
P;
char s[N
int main
P.init();
int n;
scanf("%d",&n) ;
scanf("%s",s);
int i=0;i<n;i++
P.add(s|[1i

.
’

.
’

printf("%d",n-P.len[P.last]);

’

ooon
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